[image: image1.png]Indicate whether the following statements are true o false.

Anindividual has the rightto decide ifthey are employed or self-employed.
'HMRC cannot overrule this decision.

True

‘General repairs to equipment would be treated as revenue expenses

Legal fees paid during the purchase of land would be treated as revenue expenses.
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addC e Remaining: 01:50:46 Task 1.2
Section 1 - Tasks and Questions
12 Rogertrades s aretale of plumbing equipment Below i 3 st of expenses that has ben deducted n his
income statement for he year ended 30 November 2012,
Input the amount that would be added back to calculate his adjusted trading profit Ifyou think nothing
would be added back, input 0.
‘Amount to adju
IDepreciation of 245,360 45360
N [Rccountancy fees totalling £14.300,
[This includes £3,000 for an unsuccessul tax appeal, 3000
| |Wage for Roger's wife (who does not wark i the business) of£12,000, 12000
L [Entertaining customers of£1.780, 1780
E| Rogertrades as a reailer of plumbing equipment. Below is aist of expenses that has been deducted i his [Business diaries givento customers, otal cost of £980.
| income statement or the year ended 30 November 2012 [The business logo was on th front cover and hey cost£8.50 each. o
N Input the amount that would be added back to calculate his adjusted trading profit.Ifyou think nothing [ Gostofumning he deliery vans toalled £19.600 °
] ‘would be added back, input 0. [Cost of running Rogers car tofalled £4,750.
B |40% of his miteage was for business use. 2850
] ‘Amount to adjust )
E IDepreciation of £45,360
H [Accountancy fees totalling £14,300.
3 [This includes £3,000 for an unsuccessful tax appeal.
3 /age for Roger's wife (who does not work in the business) of £12,000.
E [Entertaining customers of £1.780.
H [Business aiaries given to customers, total cost of £980
E [The business logo was on the front cover and they cost £8.50 each.
i |Cost of running the delivery vans totalled £19,600. Introduction Preferences m FlagQueston Wl Next R
= [Cost of running Rogers car totalled £4,750. ad
g [40% of his mileage was for business use. *
°
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Task 1.3
[image: image3.png]‘Show the taxable profits for the first three years of trading in the table below. Complete the dates for the basis period by
‘selecting a day from each calendar window and entering the year in the format YYYY (e.g. 2010) n the adjoining box.

201011 T2 200 | o sher 5L gom 17800

201112 10ec 5 o010 | o Somov TEL 5019 21360

201213 10ec 5 o011 | o SoMov TEE 5012 24720






Task 1.4

[image: image4.png]Enter the relevant amounts in the box below to show how Roggo Ltd would claim for their trading loss.
Enter 01f your answer is zero.

|How much loss relief can be claimed againstincome in 20122 6000
|How much loss relief can be claimed againstincome in 20112 15450
|How much loss relief can be carried forward to 20137 33850

[How much gift aid can be carried forward to 20137 0





Task 1.5
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Time Remaining: 01:34:54 Task 1.5 Progress: Nl 29%

Section 1 - Tasks and Questions

(a) In relation to partnerships, indicate whether the following statements are true or false.

Tre  Faise

Profits are divided between pariners before adjusting those profits for pariners' salaries.

When a new partner joins a partnership, al pariners are taxed under the opening year
rules for basis periods.

Ifthere are two partners and one partner leaves, the remaining partner would continue
the business as a sole trader.

Ben and Jo made profits for the nine montn period ended 31 January 2013 of £98,450. Ben receives an
‘annual salary of £21,000. The pariners share the profits in the ratio of 1:3 between Ben and Jo respectively.

(b) Show the division of profits for the period ended 31 January 2013.

|satary 15750 15750 0

[Division of profts 82700 20875

98450 36425
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Task 1.6
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Assessment: Sample Paper

SJUHiORF727a8KE 8HE Questions

Task 1.1

Membership No.: Sample Candidate Ref

(a) In relation to taxable total profits, indicate whether the following statements are true or false.

A company has a 10 month period of account ended 31 October 2012. twill need o
‘compute separate capital allowances for the period 1 January o 31 March 2012, and

1 Aprilto 31 October 2012.

True

A company has a 15 month period of account ended 31 January 2013. twill need to
‘compute separate taxable profis forthe period 1 November 2011 to 31 October 2012,

‘and 1 November 2012 o 31 January 2013.

False

Rental income is notincluded in the taxable total profits computation. ftis tared

separately_

Walley Ltd has adjusted profits of £145,000, bank nterest of £2.400 and dividends recsived of £3,600.

(b) Show the taxable total profits of Walley Ltd. Input 0 if your answer is zero.

|Adiusted profts 145000
|Bank interest 2400
[pividends 0
[Taxable total profts 147400

ab

B Page.

B Scene

Finish
Progress: 0% IsScenehttel True

‘SceneMark |100%

PageMark

CurrentScen|

LsPageAtten True
Pageniarll 100%

Scene

e e
il e
gitor [ preview Pro.. [ B8 0. 18 . |
wip277e

[Server: hitps://zat sectreassess.co uk/conte ONLINE




Task 1.7

a) 

(100,000 x 4/12) + (25,000 x 8/12) = £50,000 
(20 x 4/12) + (18 x 8/12) = 18.67% 
(10 x 4/12) + (8 x 8/12) = 8.67% 
b)

	
	
	General 

Pool £
	
	Car 

Pool £
	
	Allow

£

	B/fwd
	
	107,500
	
	36,560
	
	

	100% FYA:
	
	
	
	
	
	

	Plant
	
	
	
	
	
	8,645

	Car
	
	
	
	
	
	22,020

	AIA:
	
	
	
	
	
	

	Plant
	28,040
	
	
	
	
	

	AIA (OF)
	28,040
	
	
	
	
	28,040

	
	
	
	
	
	
	

	Disposals
	
	11,250
	
	15,400
	
	

	
	
	96,250
	
	21,160
	
	

	WDA 18.67% / 8.67%
	
	17,970
	
	1,835
	
	19,805

	
	
	78,280
	
	19,325
	
	

	
	
	
	
	
	
	78,510


Section 2
Task 2.1
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D Section 2 - Tasks and Questions.

Indicate whether the disposal of the following assets would be chargeable to capital gains tax, or not.

Mot
Chargeable  chargeable

‘Sale of an antique painting for £150,000.

Sale of jewellery inherited from grandparents.
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Task 2.2
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Task 2.3

	
	No of 

Shares
	
	Cost £
	

	June 1999
	300
	
	12,450
	

	February 2004
	60
	
	1,020
	

	
	360
	
	13,470
	

	October 2012
	120
	
	4,490
	

	Balance
	240
	
	8,980
	

	
	
	
	
	

	Proceeds
	200
	
	13,660
	

	Cost from Nov 2012
	80
	
	(5,232)
	

	Cost from pool
	120
	
	(4,490)
	

	Gain
	
	
	3,938
	

	
	
	
	
	


Task 2.4

[image: image9.png]Drag the correct relief to show which one is applicable for the following capital disposals.

Entrepreneurs
[Paul sold all of his business for £2,000,000 reliet
|on the open market.

Git

|eorae gave his business to his son when
[ftwas valued at £980,000. The son paid reliel
[nothing to George

[Harry gave an antique paintingto his Mo
|daughter when it was valued at £25,000. refief
[The daughter paid nothing to Hary.

lLynne sold some ofher shares in her Entiepreneurs
lbusiness. She had owned 42% of the shares| relief
inthe business for four years

Entrepreneurs it No
relief relief relief





Task 2.5
[image: image10.png]Complete the following questions. Input 0 if your answer is zero.

Whatis the gain on the disposal of the workshop, before rollover relief? = [55300

Whatis the amount of rollover relief that Eddie can claim? £ [46000

Whatis the base cost ofthe small factory unit, assuming full ollover reliefs claimed? £ [35000





Task 2.6
[image: image11.png]Calculate the Class 2 and Class 4 National Insurance Contributions for both Lee and Joanne for 2012/13.
Your answer should be to the nearest penny. Input 0 if your answer is zero.

Plumi

lLee 137.80 0

loanne 137.80 333480





Task 2.7

[image: image12.png]Using the table below, calculate the total tax payable on these capital gains. Round your answer
tothe nearest pound.

Corans D
p— o
Facoe ore o
I R
Faverneatron
Fvermeazon
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Task 2.8
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1 (@) Calculate the upper and lower limits for marginal relieffor each of the three companies shown below,

EERD oo that e perod of accountfaks only withn the inance year 2012-

A 2 ° 375000 75000
B 4 12 300000 60000
c 0 5 750000 150000

(b) Whatis the date for payment of tax for a small company with a year ended 30 September 20122

31January 2013

31January 2014

1July 2013

31July 2013

() Whatis the A" figure in the marginal relief formula for a company who has taxable total profits of
£800,000 and dividends received of £40,5007

245,000

I8
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[image: image14.png](a) Calculate the upper and lower limits for marginal relief for each of the three companies shown below,
‘assuming that the period of account falls only within the finance year 2012.

Upper limit
A 2 ° 375000 75000
B 4 12 300000 60000
c 0 5 750000 150000

(b) Whatis the date for payment of tax for a small company with a year ended 30 September 20122

31January 2013

31January 2014

1July 2013

31July 2013





Task 2.8 continued

[image: image15.png](c) Whatis the 'A" figure in the marginal relief formula for a company who has taxable total profits of
£800,000 and dividends received of £40,5007

245,000

£800,000

£840,500

(d) Whatis the first payment date for a company who pays under instalments who has a year ended
31 August 20127

14 February 2012

14 March 2012

14 April 2012

14 May 2012





Task 2.9
[image: image16.png](a) Whatis the penalty for an individual who pays the balancing payments three months late?

2% of the tax overdue.

5% of the tax overdue.

10% of he tax overdue

15% of the tax overdue

(b) Whatis the penalty for not keeping proper records of account for a company?

£1000

£2000






Task 2.9 continued
[image: image17.png]() Whatis the penalty for an individual if he submits his tax return to HMRC six weeks late?

2100

2200

(d) Whats the penalty for a company if they make a genuine mistake on their tax return and inform

HMRC about it?

No penalty

30% of the losttax

70% of the losttax

100% of the losttax





Task 2.9 continued


[image: image18.png](€) Tick to show if the following statements are true or false.

Tue  False

il st s 2011t eorma 31 Ot 2013

‘An individual must fle his 2012/13 tax return online by 31 October 2013.






Task 2.10
Box 38: 50,500

Box 39: 2

Box 43: 2012

Box 44: 1,380,000

Box 45: 24

Box 46: 331,200

